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Monthly Test December-2010, Subject-Math, Class-X

Time :40 min. M.Marks : 20

(0.1 Each question carries one mark.

{iy Find x if O is centre of the circle.

(i) From an external point of a circle ........... tangents can be drawn to the cirele.
(i) PQRS is a cyelic quadrilateral. Find x.

{iv} There is .............. circle passing through three non collingar pomts.
{v) In the given figure, radius of the ircle is 3 cm and the length of the tangent to the circle

PT = 4 ¢m. Find OT.

().2 Each question carries 5 marks.
(i) Inacircle of radius 5 em, PO and PR are two chords such that PQ) = PR = 6 cm. Find the length

of the chord QR

{ii) In figure, two circles with radius 0, O touch externally at a paint P A line through P is drawn
to intersect these cireles in Q) and R, Prove that the tangents at ( and R are parallel.
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Prove that the either pair of the opposite angles of a cyclic quadrilateral is 1807
(ili) A quadrilateral PQRS is drawn to circumscribe a circle. Prove that PO+RS =P5+HR
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